
1) (-51) + (-18)

Answer: ____________

2) (-33) + 90

Answer: ____________

3) 59 + (-100)

Answer: ____________

4) 2 - (-30)

Answer: ____________

5) (-11) x (-2)

Answer: ____________

6) 162 ÷ (-18)

Answer: ____________

7) (-90) ÷ 9

Answer: ____________

8)
36

5 /10

Answer: ____________

9) Find perimeter of 
triangle
a = 73 m, b = 95 m,
c = 100m

Answer: ____________

10) 95 + (-6)

Answer: ____________

Total: ___ / 10
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Answers:

1) -69 2) 57 3) -41 4) 32 5) 6) -9 7) -10

8) 6 9) 268m 10) 89
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